Scottish Enterprise Economic Impact Guidance


Impact Deadweight

	Deadweight refers to the impacts of an intervention that would still have occurred if public sector support had not been provided.


Why is it important?

Public sector economic development agencies want to stimulate positive changes in behaviours and in the economy that would not happen without support.  Through the support, the aim is to help businesses do things they would not otherwise have done or even have considered doing – or to do things bigger, better and/or faster.  In its turn this means that the intervention results in net impacts to the economy: the economy grows as a consequence of the intervention
Measurement of the significance of public sector intervention is a complex concept and it is possible on occasions that support is provided to businesses to make changes that would have happened in the absence of support.  For example, grants might be provided for product development activity which, in all likelihood, the company would have taken forward regardless.  In this case most, if not all, of the beneficial impacts would still have occurred and there would be limited economic development return from the public sector resources invested.  The extent to which the impacts would have been attained even without public sector support is known as deadweight and is usually expressed as a percentage.  Those devising interventions will always seek to minimise deadweight.  However, this is not always easy, as it is never possible to be 100% certain that beneficiaries would not undertake the activity without support.
Minimising deadweight is of fundamental importance: if investments do not make a substantive positive difference to behaviours, or to the nature and scale of impacts which are achieved, then the rationale for those investments has to be questioned.  Interventions may simply crowd out private sector activity or distort market competition for no net economic development gain.  The public sector resources invested might have been used to better effect if spent on alternative interventions.
Activity and Impact Deadweight
There are two key deadweight concepts to be considered:-

· Activity (or output/outcome) deadweight is an assessment of whether the actual activity related to the project would have gone ahead without public sector intervention. For example, is a company’s R&D activity higher than it would have been as a result of an R&D grant?  An assessment of activity deadweight can be considered as preliminary to the assessment of impact deadweight, 
· Impact deadweight is the extent to which the resulting estimated impacts (GVA and employment) within the economy from an intervention would still have occurred without support.  For example. If the company above had not received an R&D grant, it may have invested resources it committed to the R&D activity elsewhere to generate turnover.  In effect, it is comparing the impacts achieved with support to the impacts that would have been achieved without support; the difference between the two being the impacts that can be validly claimed as the benefits generated by the intervention.  The implication of this is that there may be instances where the activity deadweight is different (e.g. higher) to the impact deadweight.

Figure 1 shows the turnover for a business over the time (the impact period) that it has been supported by one of SE’s interventions. The observed gross impact of the intervention can be measured as the area of the triangle 0TA, with the observed turnover linked to the intervention shown by the green line, this is what happened, the factual.
Without support the beneficiary company would have undertaken an alternative course of action, and this would still have produced, in this example, lower turnover impacts (the counterfactual - the orange line) equivalent to the area of triangle OTB.  

The area of the triangle 0BA (the blue hatched area) represents the extent of turnover impacts that are additional as a consequence of the support provided whilst the area of triangle 0TB (the red hatched area) gives the extent of impact deadweight: that is the turnover growth that would have occurred if there had been no intervention.
FIGURE 1; 
Impact Deadweight
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Deadweight is one of the key factors that need to be estimated when converting gross to net impacts.  Failure to do so will mean that net impacts are overstated and this would bias the assessment of both relative performance and value for money.

When do we need to consider Deadweight?

Activity deadweight must be assessed for projects where it is deemed appropriate to understand the importance of the public sector’s intervention in stimulating the undertaking of the activity to deliver outputs or outcomes.  This is typically more relevant in areas such as R&D where the activity is deemed to be important to the company but where there are no guaranteed returns.  One consequence might be that in the absence of public support no activity would be undertaken.
Impact deadweight must be assessed in every appraisal and evaluation as it forms a core element in the process of converting gross to net impacts.

Considering Zero, Absolute and Partial Deadweight
Deadweight can, in principle, take any value between 0% and 100%. A value of 0% means no deadweight. In such an instance none of the gross impacts attributed to an intervention would have occurred without support.  This is illustrated in Figure 2.

FIGURE 2 


Zero Impact Deadweight
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A value of 100% means complete deadweight. In such an instance all impacts would have occurred even if no support had been given, as shown in Figure 3.  In this instance the resources spent are wasted in that there are no net benefits to the economy.
FIGURE 3: 

Absolute Impact Deadweight   .
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However, these are extremes: in most interventions at least some proportion of the observed impacts (the factual) would not have occurred without support.  This can be for a variety of reasons, although practice tends to focus on identifying three types:-

· Scale additionality, as detailed in Figure 1, where support means that a company carries out a growth project that was of a different scale to what it would have been without support, and this has had a positive influence on the scale of impacts.  For example, a business might use public sector support to attend more trade missions than it would otherwise, and the greater effort to attract export customers is translated into higher export sales;

· This can be influenced by time additionality - where support means that impacts are achieved earlier than would otherwise have been the case.  For example, support could enable a business to undertake a growth project earlier and impacts will also accrue earlier in the impact period.  An example is illustrated in Figure 4 which shows that the improvement project is forecast to generate gross turnover impacts equivalent to the area of triangle 0TA.  If support were not provided, however, the growth project would be implemented later, starting at time t.  While turnover impacts would accrue, these would occur later and by the end of the impact period (T) have still not reached the same level as in the with support scenario. So, within the impact period:-
· The time additional impact is equal to the area 0tBA; and

· Deadweight is equivalent to the area of the triangle tTB. 

Calculations for time additionality (measured in years) can be assessed separately and quoted alongside overall (%) levels of impact deadweight/additionality; and
FIGURE 4 


Time Additionality
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· Quality additionality (again see Figure 1) - where support means that a growth project was of a better quality than it would otherwise have been, resulting in larger impacts than would otherwise have accrued. For example, public sector support may enable a business to invest in better equipment that improves productivity and possibly results in a better quality product.  
The above different types of additionality are not mutually exclusive: one, or any combination of the three, may be observed in projects.
How do you assess the level of Impact Deadweight?

The recommended approach to assessing impact deadweight is to focus on the performance changes attributable to the improvement project and to the counterfactual.  This involves:-
· Assessing the level of gross impacts attributable to the intervention;

· Assessing the level of impact that would have been achieved had no support been provided (the counterfactual); and

· Calculating the difference between the two, which will be the additional impact attributable to the support provided.

This is the approach illustrated in the various Figures above.   
The main difficulty is likely to be the assessment of counterfactual impacts.  To do this the standard question set should be used, although this might need to be adapted to the needs of particular cases, following guidance from SE’s Appraisal and Evaluation Team.
Need more help?

 For further information contact:-

Suzanne Fleming, 0141-228-2062

Suzanne.fleming@scotent.co.uk
January 2014
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